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5.4a Fundamental Theorem of Calculus (FTC)
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State both parts of the Fundamental Theorem of Calculus
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On a calculator page:

Define f(x)=3x"-5

Define g(x)=[ /()

g(x)

[R:fine _A’x)=3 x2-5 Done

d
a(g(x))

X
Define glxl= | Az dr
Ja

how does this support the FTC?

Evaluate the following definite integrals. Support your answer

with Nspire.
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total area vs. net area

what are the differences/similarities?

how do I calculate total area?
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Find the total area of the region between the curve and the x-axis.
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Find the value of k so that the line x = k divides the area under
y=x> from 0<x<5 inhalf.
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